Design by Helena Chmelikovd

SEED BEADS

PRECIOSA Rocailles

33139 001; 8/0
31119 001; 8/0
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Preciosa Ornela introduces seed beads
from the PRECIOSA Traditional Czech Beads™ brand.
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Beetle

Try our fun and simple tutorial for a handmade gifi- a cute beetle made
from PRECIOSA Terra Intensive seed beads which every child will love.
It is ideal as a small gift for International Children's Day.

Materials and tools:
The beetle

PRECIOSA Rocailles (R)
33139 001; 8/0;
16A19 brown; 49x

33139 001; 8/0;
16A86 yellow; 51x

PRECIOSA Rocailles (R)
33119 001; 8/0;
08A19 brown lining; 68x

PRECIOSA Rocailles (R)
31119 001; 8/0;
23980 black; 2x

Caramel

PRECIOSA Rocailles (R)
33139 001; 8/0;
16A18 caramel; 57x

33139 001; 8/0;
16A91 orange; 43X

PRECIOSA Rocailles (R)
33119 001; 8/0;
08A18 caramel lining; 68x

PRECIOSA Rocailles (R)
31119 001; 8/0;
23980 black; 2x

Stripe

PRECIOSA Rocailles (R)
33139 001; 8/0;
16A38 blue; 54x

33139 001; 8/0;
16A54 light green; 46x

PRECIOSA Rocailles (R)

33119 001; 8/0; _
08A38 blue lining; 68x

PRECIOSA Rocailles (R)

31119 001; 8/0; -
23980 black; 2x

- 0.30 mm nylon line (stiff, with slight
elasticity); scissors; a ruler; 3 mm narrow
ribbon

Difficulty:

Technique: the peyote stitch

Procedure:

Step1

The line.

Cut off about 1 m of line. If the line twists,
gently run the needle down it or pull on it.
String the R directly on the line.

Step 2

The beginning.

String the 3x R belonging to the upper
surface of the beetle and the 4x R from
the lower surface of the beetle.

Move them to the centre of the line.
Pass the end of the line through the 4x R
from the lower surface one more time.
This will form a ring.
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Step 3

The body.

When creating the beetle, alternately string
the R from the upper surface (the example)
and the R from the lower surface.

First create the initial curvature of the body
by adding to the number of R in the rows.
Thereafter, the number of R will remain
the same in several rows. Start reducing
the number of R for the end curvature.
String the appropriate number of Rin

the row on one end of the line.

Thread the second end of the line through
this number from the opposite side.

The sewing principle

Gradually connect the 3 to 7" rows to

the lower side. Connect the central 2x R
in the newly strung row with the central
2x R from the previous row. First string
the necessary number of R on one end

of the line. When stringing the second end
of' the line, connect the central 2x R from
the previous row.
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Step 4

The legs.

The beetle has 3 pairs. Sew the legs with
the body between the 3¢ and 4™ rows,

the s™ and 6™ rows and the 7™ and 8% rows.
After completing stringing the rows in

the lower surface, string 3x R. Leave out
the outer strung R. Pass the line back
through the remaining 2x R.

Continue stringing the rows from the upper
surface.

Step 5

Finishing.

String both ends of the line into the last
row from the upper surface. Pass the line
through the last row of the lower surface
one more time. Specificly, pass one end

of the line through 2x R and the second end
of the line through the second 2x R.

Tie off both ends of the line with two
knots. Pull the ends of the line into several
surrounding R (for example,

in the penultimate row of the upper
surface). Cut off the line.

Step 6

Tie a knot in the middle of the ribbon.
Thread the ends of the ribbon through
the initial ring of R, the beetle's cavity and
the end ring made of R. Tie a knot behind
the neck. You can also adjust the length
of the ribbon at the same time.
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The lower surface

4xR

7xR 0000

8xR 0! 0

1§x2 “.88‘;8( %8.“ 16A38
ioxR 000¢0 & %0“. ?gﬁgf
?i; 000 ‘%,D D 000 0 23980

4xR

2 Connecting the rows

0000 € Connecting the rows
000



